
 

 

 

 

 

 

Exam Code: 920-443 

Exam Name: nncse-succession 1000/1000m rls.3.0 

Vendor: Nortel 

Version: DEMO 

 

 

 

 

 

 

 

 

 

 

 

 



Part: A 

1: A multi-site Succession 1000/1000M Rls 3.0 system has just been networked to a third-party 

H.323 Gateway via IP Peer Networking. During call testing, it was discovered that NO  

Succession telephone calls can be completed to this third-party Gateway. Which three actions will  

determine the root cause or lead to the resolution of this call issue? (Choose three.) 

A.Verify the data network integrity to the third-party Gateway. 

B.Verify that the H.323 Signaling Gateways in both systems are running and registered with their 

appropriate H.323 Gatekeeper. 

C.Verify that the telephone(s) used for testing are compatible with this Gateway. If NOT, change 

to a H.323 compatible telephone. 

D.Verify that the H.323 Signaling Gateway application is installed and running on the Signaling 

Server in this system and in the third-party system. 



ERROR: undefined
OFFENDING COMMAND: mFSF2S58YFFFFFFA8

STACK:

[88.309 0 0 -88 0 0 ]
-dictionary- 
/F2S58YFFFFFFA8 


